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I. (A) Write a short noetes on any two : 7
| (1) Agricultural income
(11) Central Board of Direct Taxes
(111) Tax avoidance
(1v) Previous year
(v) Assessee
(B) Explain in short any two : | 4
(1) Direct taxes
(1) Value Added Tax
(iii)) Excise duty
(iv) Indirect taxes
(C) Classify the following under the definition of “Person”™ : i
(1) Sachin Tendulkar |
(11) IDBI Bank
(111) Mehta Brothers
(1v) Surat Municipal Corporation
'(v) Kachchh University
(vi) Patel & Sens

2. (A) Ricky Ponting is an Australian Citizen. He has regularly visited India during
last 11 years (including previous year 2014-15) in the months of October,
November and December every year. Determine his residential status for the
AY. 2015-16. Would it make any difference if he had visited India in the

months of September, October and November every year ? _ 7
OR | |
Write short note on Responsibilities of Tax payer.
(B) Aftempt any one : 4

(i) Short note on Advanced payment of tax.

(11) Give four illustration of transactions for which Permanent Account
Number are shown mandatory by the assesse.

(C) State any six fully exempted incomes. | 3
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3. Mr. A is an employee in TATA company. Find out taxable salary income for
previous year 2014-15 from the following information : - 14
Basic Salary % 30,000 per month
Dearness Allowance (DA is considered for retirement benefit ¥ 5,000 per month
calculations) |
Entertainment allowance , | < 2,000 per month
Bonus One month basic salary
Commission | | < 5,000 per month
Children education allowance for three children < 500 p.m. per child
Hostel expenditure allowance for two children. < 900 p.m. per child
Uniform allowance to the extent saved | < 5,000 per annum
Salary of sweeper paid by the employer for personal use < 1,000 per month
Transport Allowance - X 8,000 per annum
Medical allowance < 12,000 per annum
Overtime allowance < 500 per month
Company has given unfurnished accommodation to Mr. A
which is owned by the company in a city having population
of 22 lakhs.

Professional tax is paid by employee < 200 per month
Interest credited to recognized provident fund @ 13% p.a.is T 39,000
Company has also provided motor car, used for both purpose. 2.4 litres cubic capacity
All the expenses of car are paid by the employer. (including
driver) _
Company’s contribution to recognized providet fufid. 13% of (Basic salary + DA)
OR
(A) Mr. A retires from private company on'31" May, 2014 after 30 years of service.
From June 2014, he started receiving uncommuted pension of ¥ 20,000 per
month. On 1" February, 2015 he received ? 30,00,000 as commuted pension
(which is 60% of total pension.) He did not received any amount of gratuity on
retirement. What is taxable value of uncommuted and commuted pension for
previous year 2014-15 ? 7
(B) Mr. A receives the following from his employer during the previous year
2014-15. 4
‘Basic salary < 10,000 per month
Dearness Allowance | | 50% of Basic salary
80% of Dearness Allowance is considered for retirement
benefit calculations |
Commission X 3,000 per month
House rent allowance ¥ 8,000 per month
Actuial house rent paid by Mr. A in Surat city % 9,000 per month
Find out taxable House rent allowance for previous year 2014-135.
(C) Attempt any one : . 3

(1)  Short note on Gratuity
(1)  Short note on Recognised Provident Fund.
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4.  Mr. A is the owner of four houses. You are required to compute his taxable income

from house property for the P.Y. 2014-15. 14
Particulars| Nature of Use | Rent Fair Standard | Municipal
receivable I [ rentT | rent? valuel
HOUSE-1 |Let out for 11.40,000| 8,40,000{ 9,60,000| 6,30,000
residence
HOUSE-2 | Let out for 3,36,000| 2.49,600| 242400 244800
_ residence |
HOUSE-3 | Self occupied — — - 7550,000
HOUSE-4 | Used for own - 5.00,000 — 4,00,000
business |
Particulars House-1| House-2 | House-3| House-4
Vacancy period 3 months| 2 months - -
Irrecoverable rent 95.000 28,000 - -
Municipal taxes paid by Mr. A 20,000 | 24,000 | 12,000 | 5,000
Municipal taxes paid by the tenant 30,000 28,000 - -
Municipal taxes payable by Mr. A 124000 [ 5,000 5,000 | 2,000
Municipal taxes payable by the tenant | 6,000 11.000 - -
Land revenue Annual 6,000 7.000 8,000 -
Repairing expenses | 7,000 8,000 | 9,000 | 5,000
OR
(A) Mr. A is the owner of house. From the following details of house property of
Mr. A, compute his taxable income from House Property for the Assessment
year 2015-16. 7
Particulars House Property
Nature of use Let out for residence
Fair rent annual < 4,50,000
Actual rent monthly < 50,000
Standard rent annual < 3,90,000
Municipal value annual < 4,20,000
Municipal tax paid by Mr. A < 40,000
Municipal tax paid by the tenant < 15,000
Insurance premium paid < 8,000
Interest on loan taken for construction unpaid for P.Y. 2014-15. < 8,000
Capitalized interest < 1,00,000
(B) Write short note on any one : 4
(a) Unrealised rent
(b) Deduction allowed for interest on borrowed capital _
(C) Worite short note on any one : 3
(a) Income from house property fully exempt from tax
(b) Deemed owners of house property
NH-126 7 P.T.O.



5.  Select the correct alternative : (any seven)
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Incidence of tax depends uponthe ~ of the assessee.

(a) Income (b) Residential status

(c) Age (d) Weight

Permanent Account Number is mandatory while purchasing any immovable

property valued at Or more.

(a) ¥ 1,00,000 (b) % 2.00,000
(¢) % 4.00,000 (d) % 5,00,000

Mr. A received I 250 p.m., per child for 3 children as Hostel expenditure
allowance. Find out the exempted value of allowance.

(a) T 6,000 (b) %7200

(c) 1,800 (d) < 3,000

The standard deduction at  is deducted on net annual value of house
property let out. '

(a) 5% (b) 10%

(c) 15% (d) 30%

HDFC Bank shall be treated, in the context of definition of a ‘Person’ as

(a) Company (b) Firm

(¢) Local Authority (d) _Artificial juridical person

Mr. A owns a house property, which is let.out on annual rent of ¥ 12,000. The
annual value of this house as per munieipal valuation is ¥ 9,000 and fair rent is
< 11,000. Standard rent determified underthe Rent Control Act is T 11,300.
What is gross annual value ofthe house ?

(a) 12,000 (b) T 11,300

(c) T 11,000 (d) 9,000

Which of the following 15 not an Executive Authority under Income Tax
Authorities ?

(a) Finance Minister (b) Central Board of Direct Taxes

(¢) Income Tax Officers (d) Settlement Commission

Interest credited to recognized provident fund @ 11% p.a. is T 33,000. What is
the amount of interest taxable under salary income ?

@ T 3.000 (b) Z4.500

(). % 28.500 d) % 33.000

Which of the following statement is not correct ?

(a) Income tax is direct tax. (b) Custom duty is indirect tax.

(¢) Excise dutyisindirecttax. (d) Service tax is direct tax.

Mr. A joined the company on 1-4-2010 in a salary grade of 30,000-2,000-
34,000-4,000-50,000. What is total basic salary taxable for the previous year
2014-157?

@) ¥ 3,60,000 (b) % 5,04,000
() % 6,00,000 d) % 4,56,000
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